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tangent line to y = f(x) at (2,7)
y—7=8(x—2)
“linearization” of f(x) at x = 27

(a) 8

(b) 8(x — 2)

(c)7+8(x—2)

(d) none of the above
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f(5) = -2, f(5)=23
Linear approx. to f(z)
at xt =57

(a) 23 — 2(z — 5)

(b) 5x2 + 23z — 2

(c) =2 4+ 23(x — 5)

(d) none of the above
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g(7) =4, ¢(7)=-8

Linear approx. to g(x)
at t =77

(@) -8+ 4(z—T7)

(b)4 —8(x—T7)

(c) 722+ 4z — 8

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

00f5 Topic 0540 20 pts ’




Newton’'s method

. for solving 2% 4+ x = 4:
e<tn 4+ xp — 4 — P
_ Lnl1 — 7!
(a) In 623:n+ 1 n
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et + xp
(b) In — e2rn 4 1
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LOOK AHEAD

Riemann sums

JA\ (cos(5° + j2))
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LOOK BACK (OPTIMIZATION)

We want to construct a box whose base length
IS 3 times the base width. The material used
to build the top and bottom cost $10/ft?
and the material used to build the sides

cost $6/ft2. If the box must have a volume

of 50 ft3 determine the dimensions that will
minimize the cost to build the box.
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